CHEVROLET COLORADO/GMC CANYON CREWCAB
2015-CURRENT

UNDER SEAT STORAGE

PART# USSCOL-01

KIT CONTENTS:

UNDER SEAT STORAGE ASSEMBLY

HARDWARE KIT---CONTAINS 2 M10X1.5X50 BOLTS AND 2 M10 FLAT WASHERS

INSTALLATION INSTRUCTIONS

TOOLS REQUIRED FOR INSTALLATION:

RATCHET

8MM SOCKET

10MM SOCKET

13MM DEEP SOCKET

17MM SOCKET

T50 TORX SOCKET

SAFETY GLASSES




WARNING!

Installing this product in your
Vehicle requires the use of sharp objects.

Please make sure you use the proper tools and use
them in a safe manner.

We are not responsible for injuries incurred while
installing this product.



—— T RUCK ACCFSSOR/FEFS—/]—

CHEVROLET COLORADO/GMC CANYON CREW CAB 2015-CURRENT
UNDER SEAT STORAGE

INSTALLATION INSTRUCTIONS

TOOLS NEEDED: 8MM SOCKET, 10MM SOCKET, 13MM DEEP SOCKET, 17MM SOCKET, T50 TORX
SOCKET, RATCHET, REMOVE ALL CONTENTS FROM BOX

1.

REMOVE 4 10MM PLASTIC ANCHORS ON SIDES OF FACTORY INSTALLED STORAGE (2 ON EACH
SIDE). THESE WILL NOT BE REUSED.

REMOVE ALL BLACK RUBBER BUMPERS FROM FRONT AND REAR OF FACTORY STORAGE USING
8MM SOCKET, INSTALL 5 OF THEM BACK INTO THE ESP UNIT.

REMOVE BLACK PLASTIC FACTORY STORAGE BOX BY PULLING IT OUT. WILL BE LOOSE AFTER ALL
OF THE BUMPERS ARE REMOVED.

REMOVE THE TWO FRONT M10 TORX HEAD BOLTS FROM FRAME OF THE STORAGE SYSTEM.
LOCATE THE METAL STRAP ATTACHED TO THE FRAME, FIND AND REMOVE THE 13MM NUTS
THAT ARE UNDER THE FLAP IN THE CARPET.

REMOVE METAL FRAME BY PULLING THE STRAPS OFF THE STUDS.

USING THE KEYS, UNLOCK THE LIDS ON THE ESP SYSTEM, AND PLACE THE SYSTEM INTO THE
TRUCK. POSITION THE FRONT BOLT HOLES IN BOTTOM OF STORAGE OVER THE BOLT HOLES IN
THE FLOOR OF THE TRUCK.

INSTALL THE SUPPLIED M10 BOLTS AND WASHERS THROUGH THE ESP SYSTEM INTO THE
FACTORY HOLES IN THE FLOOR AND TIGHTEN DOWN USING 17MM SOCKET. THE HOLES ARE
SLOTTED FOR FORWARD ADJUSTMENT. WHEN TIGHTENING DOWN, THE BOLTS WILL NOT
TIGHTEN COMPLETELY DUE TO THE FOAM UNDER THE CARPET. TIGHTEN UP TO WHERE YOU
FEEL COMFORTABLE.

ENJOY YOUR NEW LOCKING UNDER SEAT STORAGE!



